D-Link ANT70-1400N D-Link ®._  ANT70-1400N

Wall mount Pole mount Radiation Pattern

Port 1 (H-Plane)

%0 % —5100MHZ

2 120 T80 o 2400MHz L] w T —-—g;ggm;

ﬂ 4 F ——2450MHz 15 g —

104 N ‘J 5900MHz
150 £ 15

Magnitude (dB)
% oo
g
P
Q
Magnitude (dB)
o hi o u

&~

210 330 _‘ 210 330

i) 0

Port 1 (V-Plane)

(®Mounting base 1pcs (MMounting base 1pcs . TR e e
@M4*8 Screw+S/W+W 4pcs @M4*8 Screw+S/W+W 4pcs 0 { - » °] g
(®Space Keeper 4pcs ®Space keeper 4pcs g ] ) 0 )
®M-Shape Mounting 1pcs ®M-Shape mounting 1pcs : ol O o ;f"}‘“"* @> 1o
®Pole mount clip 1pcs ®Screw 3/4” 4pcs £ / B e
®M6*60 screw 2pcs ®Wall tiger 1/4” 4pcs o % o]
@M6*16 screw 4pcs ®M6*16 screw 4pcs 2: S| ;5{‘ P
®M6 S/W 4pcs ®M6 S/W Bpcs a0 0
@M6 W 4pcs @M6 W 6pcs

7 e N . 2

f i & N Package Contents: Port 2 (H-Plane)

A Lﬁéﬂzj rfi ) ANT 70_1 4OON Anten e 29 120 s 80 —— 2400MH: mw 1= —— i ;gé%E;

- SOCm extenS|On Cable mj . mf_mw“‘ ) . ‘M—SQDOMHz

T = 1 - Mounting Kit 'J; Q $slm| &

Lk LE - Waterproof tape / e
For 11n Access Point with 2X2 MIMO design, - QU|Ck |nSta”at|0n GL“de 184 L

connecting port 2 and port 3 is suggested. B el * -




